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PHYSICS SSC-I
SECTION — A (Marks 12)
Time allowed: 20 Minutes (Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1  Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(1) 275.00 has significant digits.

A 3 B. 2 C 4 D. 5
(i) Which is not a vector quantity?

A momentum B. pressure C. weight D. torque
iii) If ‘m’ is the mass of an object then its weight on the surface of the Earth will be:

A mg B. 2mg C. ;mg D. None of these
(iv) Torque depends on:

A Force B. moment arm  C. acceleration D. Both A and B
{v) The acceleration produced by a force of 20N in a body of mass 8kg will be:

A 0.4ms™ B. 2.5ms ™ C. 0.4ms™" D. 2.5ms™

(vi) The value of G is:

A 6.673x107" Nmhg™ B. 6.673x10"" Nmkg™
C. 10ms™ D. 6.4x10° Nm*kg ™
(vii) lhp=2?
A 6741 B. 776 W C. 476 W D. 746 W

(vii)  One pascal is equal to:

A 1 Nz B. 107 N2 C. | Nt ™2 D. 0.5Nm™

(ix) Convert 50 °C temperature into Fahrenheit scale.

A 122°F B. 90°F C. 120°F D. 124°F
(x) Metals are good conductors of heat due to the:
A big size of their molecules B. small size of their molecules
C. rapid vibrations of their atoms D, free election
(xi) A physical balance measures: '
A volume B. weight C. mass D. density
(i) The potential energy of a body of mass 10kg at a height ' /" is joules.
A 10k B. 100k C. 1000# D.  None of these

For Examiner’s use only:
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Time allowed: 2:40 Hours

/
PHYSICS SSC-I )

(Revised Syllabus)

Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION —- B (Marks 33)

Q.2

Note:

Q.3

Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. {(MMx3=33)

(i)
i)

o

What is meant by Mechanics and Geophysics?

An object starts from rest. Write down the changed equations for the motion of the object.
Define centripetal force and aiso give its formula.

Differentiate between ¢ and G .

How much time is required to change 22Ny momentum by a force of 20N 7

Why is the base of a vehicle made wide? .

Briefly describe that the Law of gravitation is consistent with Newton’s third law of motion.

Name and define the unit of power.

State Pascal's Law.

Calculate the coefficient of linear thermal expansion of aluminium if the value of its coefficient of volume
expansionis 7.2x107° K"

A cup of hot tea becomes cold after sometime. Why?

Draw a temperature-time graph showing the change of state of ice into water and steam.
What is an Atwood machine?
Define centre of gravity.

Define Stress. Also give its formula and unit.

SECTION — C (Marks 20)

Attempt any TWO questions. All questions carry equal marks. {(2x10=20)
State and explain the Law of Conservation of momentum. (01+04)
Graphically prove that 2as = vf? —vi* (05)
Define equilibrium and explain the first condition for equilibrium. (01+03)

A man has pulled a cart through 35m applying a force of 300N . Find the work done by the man. (03)
Describe Einstein's Mass-Energy equation. {03)

Describe the scales of temperature. Give Formulas for the conversion of temperature from one
scale to the other, : (03+03)

The acceleration due to gravity on the surface of the moon is 1.62ms > . The radius of the moon

i81740km . Find the mass of the moon. (04)
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7 Sig. of Candidate.
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Time allowed: 20 Minutes

PHYSICS SSC-I
SECTION — A (Marks 12)

(Revised Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
it should be completed in the first 20 minutes and handed over to the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

None of these

N

20N

800ms™!

Bothband ¢

() Which one of the following numbers is in the standard form?

A, 0.07843x10°  B. 3.0079%10°  C. 47679.0 D.
(i) The distance-time graph for an object moving with variable speed is a:

A straight line paraliel to vertical axis B. straight line parallel to time axis

C. straight line passing through origin D. curved line
(i) Indicate the unit of momentum:

A kgms™ B. Ns™! C. Ns D.
(iv) A force of 10N is acting along x-axis. Its vertical component will be:

A, Zero B. 10N C 0.5N D.
(V) The orbital speed of a low orbit satellite is:

A 8kmb B s C. 8000ms ™ D.
{wit) Joule is equal to:

A watt x metre  B. watt x second  C. newton x metre D.
(vi)  lfthe mass of 200cm’ of stone is 500g then its density will be:

Al 2.50gcm™ B. 0.4kg m™ C. 2.5kgem™ D

{wviil) Which one of the following options is incorrect?

A -273°C=0K B. 0°C=0°F C. T(K)y=C+273D.
(ix) In solids, heat is transferred by:

A radiation B. conduction C. convection D.
(x) The ieast count of vernier callipers is:

A 0.01lcm B. 0.01mm C. 0.1em D.
{xi) Inertia depends upon:

A force B. velocity C. mass D.
(xii) Hydrometer is used to measure the of a fiuid.

A pressure B. volume C. weight D.
For Examiner’'s use only:

Total Marks:
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PHYSICS SSC-I
(Revised Syllabus)
Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Note:

Q.3

SECTION — B (Marks 33)
Answer any ELEVEN parts. The answer to each part should not exceed three to four lines, (11 x3=233)

(i) What is meant by derived units? Give two examples.

(i) A car is moving with velocity ‘v'. On applying brakes it comes to rest. Write down the changed equations
of motion for the car,

(iii) Define Newton's Second Law of Motion.

(iv) Describe the important features of Kinetic Molecular Model of matter.

(V) A mechanic tightens a nut using a 15¢m long spanner by exerting a force of 200N .Determine the torgue

that has tightened the nut.
vi) Define gravitational field strength of the Earth. What is its value near the surface of the Earth?

vit) The efficiency of a working system is always less than100%  Why?

(
(
{viii) How does water cool down the automobile enging?
(ix) Define Archimedes Principle.

(

X) Calculate the power of a pump which can lift 200Kg of water through a height of 6m in 10 seconds.

Xi) Describe the factors on which the rate of heat radiations depends.

i) Name and define the unit of work.

{
(
(xii) Define Translatory motion and name its different types.
(xiv)  Why is hot food packed in Styrofoam boxes?

{

XV) Differentiate between Mass and Weight.

SECTION - C {Marks 20)

Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)
a. Define resultant force. Describe Head To Taii Rule to find out resultant vector of different vectors.
(01+04)
b. A car has a velocity of 10ms™' It accelerates at 0.2ms ™ for half minute. Find the distance travelled
during this time and the final velocity of the car. (05)
a. Briefly describe Hooke's Law. What is Young's Modulus? How is it determined? Also, give its unit.
(02+01+02+01)
b. Find the mass of the Earth. {04)
a. Define and explain Specific Heat Capacity. Also, give its unit. (04+01)
b. A picture frame is hanging by two vertical strings. The tensions in the strings are 3.8N and 4.4\
Find the weight of the picture frame. {05)
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Answer Sheet No. 2|

Sig. of Invigilator.

...........................................................................................................................................................................

PHYSICS SSC-

SECTION — A (Marks 12)
Time allowed: 20 Minutes (Old Syllabus)

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i) in which Surah and verse Allah says “Hast thou not seen how Allah hath sent down water from the
sky"?
A Al-Zumar 21 B. Al Bagra 163 C. Al Bagra 164 D. None of these
(i) A second is the duration in which the Cesium-133 atom completes numbers of vibrations.
A, 9192631770 B. 91929311770 C. 9192911770 D. 9192631770
(i) Motion in which every particle of a body has exactly the same motion is called
A Rotatory motion B. Vibratory motion
C. Transiatory motion D. None of these
(iv) The mass of a body is a measure of its
A Inertia B. Weight C. Rest D. Acceleration
(v) The X and Y axis are also calied .
A, Plane B. Graph
C. Frame of reference D. None of these

(i) The factor affecting torque is/are

A F B. r C. Fandr D. Nane of these
{vii) The velocity of an object moving with uniform speed in a circle is changing

A. Abruptly B. Irreguiarly C Slowly D. Constantly
(vii) Megaz= .

A 10° B 10° c. 10% p.  10°

(ix) M.A of inclined plane =

27l { R b
A e B. - C. — D. —
h h ¥ y
\ , F .
(x) Pressure acting on a body is P =— . Pressure can be increased by
A Increasing area 4 B. Decreasing area
C. Decreasing force D. None of these
(xi) Like linear expansion, volume expansion alsoc depends on .
A The original volume B. The change of temperature
C. Nature of material D. All of these bg
(i) In the given figure which state of equilibrium has been shown? é?
A Neutral B. Stable C. Unstable D. None of these
For Examiner’s use only:
Total Marks: 12
Marks Obtained:
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PHYSICS SSC-I
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section 'B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers

neatly and legibly.

SECTION — B (Marks 33

Q.2 Answer any ELEVEN parts. The answer to each part should note exceed three to four lines.(11 x3=33)

(i Describe briefly absolute zero.
(i) State the Pascal's Law.
(iit) Define Hook's law.
(iv) In the figure given below write the scientific name of each machine. Also write their M.A formulae.
Rl
£
A
(V) In the figures given below which car is more stable during racing. Also give the reason.

= n Sy G 202

(vi) What are the factors upon which wark depends?
{vii) What is the function of centrifuge?

(viij  State the two conditions of equilibrium.

(ix) What are the three ratios of trigonometry?

(x) What is mentioned by Newton about artificial satellite in his famous book Principia Mathematicia?
(xi) Define Position.

(i) What are the Prefixes?

(xii)  Define electromagnetism.

(xiv)  Whatis the difference between Dynamics and Kinematics?

(xv)  State Newton's first law of motion.

SECTION — € (Marks 20)

Note: Attempt any TWO questions, All questions carry equal marks. (2 x10 = 20)
Q3 a What is the number of base units in system international? Write their names and symbols. (3)
b A cyclist moves his cycle from rest with an acceleration of 1ms 2 for 20 second, then he moves with

uniform velocity for one minute. Finally he applies brakes and stops with a negative acceleration of
Ims % . Determine its maximum velocity in kilometre per hour. Also determine total distance

covered by him. 3)
¢ Define and explain Friction and Limiting friction. Also describe advantages and disadvantages  {4)
of friction. (3)
Q4 a What is the difference between scalar and vector quantities? Explain it with examples. 3)
b In the figure given below the centre of gravity of the hockey stick is at 60 cm from the end A.
To balance it at 40 ¢cm from “A”, a weight of 5N is hung at A.
Find the weight of hockey stick. (3)
BQC:I:'_’_T__, RS A
c. Derive the formula for the orbital speed of artificial satellite and explain how the satellite can be
revolved around the earth with maximum speed? (4
Q.5 a Explain the law of conservation of energy. (4)
1
b Prove that § = vt + 5 at® (3)
c One kilogram of ice is dropped in 9 kg of water at50°C . What will be its final temperature while
the latent specific heat of fusion of ice is 336000 Jkg_1 : 3)

~—— 18A 1607 (Old) —

L




- o~ gy pgre| u.ufja
(Old Syliabus)

53 prus n o AF & 240 2

LSy @ et prao sl 421 (1) L o -QJ{QKL}':?G( i g-'c.wf‘;glz/.’_.;uryﬁ‘}'y’b,l TSN
'Uf':f'a?‘z'”g"""-”"-"—&'ﬁ L 77-JL?Jy4L/J(Sheet-B)¢$%l

(33 /"J ) (o
(11x3=33) Zu.‘g:a(_,fﬁuﬁfw)w?c, (;J‘-:d:rle (11 )u"lv(c"—-éfé—ufd.;gjﬂ

S ol 1470 (Absolute Zero)s iyl
‘u_/ul_ﬂu;'w‘fg

- Ak(Hook's Law)y 766

A Gt EL ik e ds
5 7E g SeSTun Ut (Race) v—'-.«ufwfdlvz%r?v&idi Gsud el
o St Y
fe b KUY centrifuge
LB PSSk
-Q/ug(Ratios);éufﬁdﬁi@
-c‘_g@}gﬁ?(Principia Mathematicia)e U7x™ 1 Lo/t Ut e AL s $5°
-y /@75 (Position) ¢

tr ) (Prefixes) A5,
_u:/i;_'g/U(Electromagnetism)(f‘..‘g/"?l

% 0L (Kinematics) u’@d‘? 2 (Dynamics)urb’li
-qfugw’t?ﬂ;;(fr&cf:ﬁ

(20,45 (yo
(2x10=20) e ALl gES I 1 230
(03) et L te PSSO KBS
a{.-lr"zJJ:.:.I/"..L:.;-"‘Q/&:,J’LM(JL&j;fw/g,c‘.. t'Ugg,"g’,ViL«‘./_géj'/vgi tms ™ iﬁ?zo&ﬁ&hﬁ;gumwﬁé

S b L el S i e b LA FIE s SOL o

(03) Y Joild
(04) e b LA el S A8 (limiting friction) o A0 (Friction)e”
(03) LT e GAT syt AF

Z &S (Baiance) u"'-b‘,;40 emeAc LU /80 cmc.Az_/Gg/;iT/*K_ﬁ—Jguguffu{d;é
(03) B@IZIE_"T“ e A S b SRS A e

brolicnssbide -G Sae S el F sl A3l Up6K (Orbital speed) 4x % T g5+
(04) L e AFL
(04) e § I (ST mu i)
(03) S=vt +%uf2 S et

bR (P TIbiie L5760 A28 0L ¥ 0/ L
03) 2 336000 Ik " Gt

-— 15A 1607 (Old) —

(xii)
(xii)
(xiv)

(xv)

- :r/:}dl}“

el
.

-
- :f"/-_"'dly

— Nt
3

-

- :O;Ur

e

-C



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12

